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1 — i il L] Iml$1100LL — 0 — 0 — —
2 K i BShinze AR AR A A — —
3 ARIVLARKRUVOZFEOINEWY 0.003mg/LLL T — — — — — —
4 K K Y F 0 L AW 0.0005mg/LLLT - -
5 Loy kOEToOIWlAEW 0.01mg/LLLF — — — — — —
6 ¢ K O T o kb AW 0.01mg/LLATF — 0.00 147 — 0.001 7 — —
7T v F K X E O AW 0.01mg/LLL T — — — — — —
8 Ny v A b & W 0.05mg/LLL T — — — — — —
9 o m O = # 0.04mg/LLLF — 0.004 7 — 0.004 A7 — —
10 7ok AA 2 RO T~ 0.01mg/LLAF — 0.001 575 — 0.001 {5 — —
u o EF LS LG 10mg/LELT - ! - IR - -
2 7 v F KO0 AED 0.8mg/LLL T — 0.14 — 0.14 0.10 0.10
13 Fx7 HF K OZEOAEW 1.0mg/LLLF — 0.2 — 0.2 0. 147 0. 147
14 1L A (A 7 S 0.002mg/LLL T — — — — — —
15 L4- ¥ #F x B v 0.05mg/LLA TR — — — — — —
17 Y 7 v v A X v 0.02mg/LLLF — — - — — —
18 5 7 Z znr = F L v 0.0lmg/LLLT — — — — — —
9 +F VY Z g Br = F L v 0.0lmg/LLLF — 0.001 A1 — 0.001 A3 — —
20 ~ NZ + N 0.01mg/LLAF — — — — — —
21 o) F [i%3 0.6mg/LLL T — 0.06A T — 0.07 — —
22 4 = = 43 173 0.02mg/LLLF / 0.002A 7 / 0.002A — —
23 7w v K A A 0.06mg/LLLF / 0.006 7 / 0.006 A7 — —
24 2/ = N = S L 0.04mg/LLLF / 0.004 7 / 0.004 K7 — —
2 ¥ 7w B Y mwm AR 0.1mg/LLLF / 0.01A7H / 0.01 A — —
26 5= # 173 0.0lmg/LLAF / 0.001 AT / 0.001 AT — —
21 ¥ M U N om AR v 0.1mg/LLL T / 0.011 / 0.01 A — —
28 [ 72 =T = T (4 0.2mg/LLL T / 0.02Ai5 / 0.02A7i5 — —
29 T m E Yy moua A K v 0.03mg/LLL T / 0.003 / 0.003 K77 — —
30 7 = EF & A A 0.09mg/LLL T / 0.009 A7 / 0.009if5 — —
31 & L A T L F b R 0.08mg/LLA TR / 0.008 7 / 0.008 K1 — —
32 MO Kk O E oA W 1.0mg/LLLTF — — — — — —
33 TAI=ZUAKEORNFOLEDY 0.2mg/LLL T — 0.02 — 0.02 — —
3 % Kk O o b A W 0.3mg/LLLT — 0.03AH - 0.03 A — -
3B Kk W™ E O b AW 1.0mg/LLLT — — — — — —
36 FTrITUAREOVZETDOEWY 200mg/LLLTF — 22.4 — 21.7 2035 20477
3T =~V WU REOZF0OEWY 0.05mg/LLLF — 0.005 i — 0.005 A7 — —
38 wotk B a4 F v 200mg/LLL T — 30.1 — 27.7 — —
59 7V (‘V v j%ﬁ ~ 7£‘ v ’7)1* % 300mg/LLL T - 95.3 - 99.3 42.6 40.1
40 OB KR OB W 500mg/LLL T — 184 — 182 96 94
41 B A A4 v R owm IE A 0.2mg/LLL T — — — — — —
42 v = F 0z I v 0.00001mg/LLL T — — — — — —
43 2- A F v A4 YV KR ) % A — | 0.0000lmg/LLL T — — — — 0.01 Kl 0.01 A
4 A4 F v B oE IE %A 0.02mg/LLLF - 0.0 1At — 0.01Aifs — —
45 7 = J — L M 0.005mg/LEL T — — — — — —
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4 KB E XXE O AEWY 0.0005mg/LLL T —
5 Loy kOEToOIWlAEW 0.01mg/LLLF — — — —
6 m Kk Y F o b A WY 0.01mg/LLA | 0.001A3 ¥ 0.001 A i 0.001 A it 0.001 K7
7T v F K X E O AW 0.01mg/LLL T — — — —
8 N i v A b A& W 0.05mg/LLLF — — — —
9 moOo B o = & 0.04mg/LLLF|  0.0047% 4 0.004 7 0.004 7 0.004 A7
10 7k A 4 kO LS T 0.0lmg/LELF|  0.00157% 0.001 A4 0.001 A4 0.001
i @%ﬁ B e ﬁﬁ & g omg/LEAF| Lkl . 1 Lk Lok
12 7 v FF Kk O®Z o0t a5 W 0.8mg/LLL T — — — —
13 Fx7 HF K OZEOAEW 1.0mg/LLATF — — — —
14 1L A (A 7 S 0.002mg/LEL T — H — — —
15 L4- ¥ F X ¥ v 0.05mg/LLA TR — — — —
17 Yy v v A X v 0.02mg/LLLTF — — — —
18 & 7 Z mmo=x F L v 0.01mg/LLLT — — — —
9 MY 7 mwo x F L v 0.01mg/LLLTF|  0.001 A7 8 0.001 A3 0.001 7 0.001
20 ~ NZ + NZ 0.01mg/LLLTF — — — —
21 # F# i3 0.6mg/LLLF 0.06A 0.07 0.06A 0.0647i
22 V4 =4 = {3 i3 0.02mg/LLAT|  0.002K7 3 0.0024 i 0.00247its 0.002:47if%
23 7 m wm K L A 0.06mg/LLL | 0.0067H 0.006 A1 0.006 A7 0.006 A7
24 2T/ - S = S 0.04mg/LLL |  0.0045K7H 0.004 K 0.004 7 0.00447if
2 ¥ 7w B Y mwm AR 0.1mg/LLA T 0.01A5 i 0.011 0.013 0.010
26 B # iz 0.0lmg/LLLF|  0.001K7H 0.001 AT 0.001 7 0.0017if
27 ¥ M U N om X X 0.1mg/LLA T 0.019 0.026 0.029 0.022
2 K~ U s v onm R 0.2mg/LELF|  0.0254% H 0.02411h 00241 0.0241
29 7w E Yy omoum A K 0.03mg/LLLTF 0.005 0.007 0.008 0.006
30 7 v EF K A 0.09mg/LLAT|  0.009 7 0.009 A7 0.009 A7 0.009A7if
31 & A A 7T A F b K 0.08mg/LLLT|  0.00857 z 0.008 i 0.008 i 0.0087i
32 MO Kk O E oA W 1.0mg/LLLTF — — — —
33 TAI=ZUAKEORNFOLEDY 0.2mg/LLLT 0.03 0.02 0.02 0.02
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35 1 K O o kb A& W 1.0mg/LLLTF — — — —
36 T RIU AR OYEZEOEW 200mg/LLA T — ” — — —
31 ~ U H UKk OZE DAY 0.05mg/LLLF|  0.005531 0.005 i 0.005 i 0.005
38 ok v A4 F v 200mg/LLL T 30.4 26.4 28.7 29.4
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42 Y =z o+ A 3 v 0.00001mg/LEL T — < — — —
43 2-AF v A4 VKRV R F — | 0.00000mg/LLLF — — — —
44 A4 F o R om wm M A 0.02mg/LLL T — — — —
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#a 7K i 7K #a 7K #a 7K
1 — like gl Iml100LA 0 0
2 K 15 miEhianze N A
3 HFRIVLEORZEDOIADY 0.003mg/LLLF — — B
4 KR K O E O AL & W | 0.0005meg/LLLF 5
5 LYy Rk OEONAE W 0.01mg/LLL T — —
6 M Kk O T o i A& WY 0.01mg/LLLF|  0.001755 0.001 ¥ 5
TR KT X O AEY 0.0lmg/LLLT — i —
8 N ofi 7w A kb A W 0.05mg/LLLF — —
9 moOoM M O B R 0.04mg/LLLF|  0.004K7H 0.004 A7 N
10 7ok A4 2 ROy T 0.0lmg/LELF|  0.001574 0.001 A5
1 ;? @% " = ﬁ§$ %& ; 10mg/LLLF 1A ’ e
12 7 v £ K OCZ0lEDY 0.8mg/LLL F — — T
3 AU FEO®ZETOIWED 1.0mg/LLA TR — 0 —
14 g B b R e 0.002mg/LLL T — —
15 4- ¥ F x ¥ v 0.05mg/LLLTF — — H
17 Y sy o m o owu A B 0.02mg/LLLF — - 6
18 5 7 Z m o= F L v 0.0lmg/LLL T — —
9 KV 7 ow x F L o 0.0lmg/LLLF|  0.0015% 0.001 5
20 A 0.01mg/LLLF — & — 9
21 i) # %3 0.6mg/LLL T 0.06:Ai5 0.067i
22 4 = =4 {3 tii 0.02mg/LLAT|  0.0025K3 0.002A7ifi
23 7 m v K A A 0.06mg/LLLF|  0.00647 W 0.006 A1 %
24 /S - - 0.04mg/LLAT|  0.0045K3 0.00457ifi
2% ¥ 7w E® s umoum AH 0.1mg/LLLF 0.01A5 0.01 5K
26 = # i3 0.0lmg/LLAF 0.001 0.001 i "
27T ¥ OF U N om A K 0.1lmg/LLLF 0.020 % 0.018
28 [ 7 = S = S 0.2mg/LLLF 0.02:7 0.02A7it
29 T mE Y rmoum X HE U 0.03mg/LLLF 0.006 0.006
30 7 m E Ak A A 0.09mg/LLLT|  0.0095{i - 0.0097if5 &
31 K A A T A F b R 0.08mg/LLA | 0.008i ~ 0.0084is
32 O Kk OV E O LAWY 1.0mg/LLLTF — —
33 TALI=U AR OZOLED 0.2mg/LELF|  0.0250 0.02 z
M % Kk OO O b & W 0.3mg/LLL T 0.03A4i i 0.03A7i5
3% MW Ok U E 0 kAW 1.0mg/LLLF — —
36 FERIT AR OBZEDLAY 200mg/LLL F — — e
3T ~ v H ok O ZF oA W 0.05mg/LLLF|  0.0057H5 0.0057it5
38 W b W A A o 200mg/LLLF| 205K » 207
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2 Y = & R v 0.00001mg/LLL F - - -
43 2- A F ) A4 VR )V R 4 — | 0.0000lmg/LLLT — —
44 3 A4 A v R omE E M OA 0.02mg/LLATF — L — v
45 7 = J - A M 0.005mg/LEL T — —
16 @_ H B R 5’2%( TOC ) @ &) Smg/LEL T 0.8 0.8
47 p H il 5.800 F8.6LLF 7.59 7.57 7.50 7.45
48 S BTNz E FHTeL FHTRL HH L BT L
49 5 = FETRWIE HERL HERL HeL B
50 = E 5ELIT 0.5 0.5 0.5 0.5
51 i = 2B LLT 0. 144 0. 144 0. 14 0. 1A
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